Physician-specific OSI Score Sheet


    PHYSICIAN-SPECIFIC OCCUPATIONAL STRESSOR INDEX (OSI) SCORE SHEET REVISED 2017   
Reprinted with Permission of the Author: Dr. Karen Belkić.

For permission to use the instrument, please contact Karen.Belkic@ki.se
A1.Job title
:  









A2. ____ Years in current job at present site
A3. Employment capacity 
1 (a)=Full time position

2 (b)=Part time position

3 (c)=Temporary capacity

4 (d)=Other capacity: 

A4.  Years in occupation:
A5.  Years employed:
A6.  Has worked at other Jobs: 1=yes, 0=no
B1=Physician specialist 1=yes, 0=no

          Specialty ___________________ (1=Surgeon, 2=Anesthesiologist, 3=Ob/Gyn, 4=Emergency physician, 5=Gastroenterologist, 6=Cardiologist, 7=Oncologist, 8=Internist or other internal medicine subspecialist, 9=Pediatrician, 10=Psychiatrist/Neurologist, 11=Family practice/General primary care, 12=Radiologist, 13=Pathologist, 14=Dermatologist, 15=Occupational Medicine, 16=Preventive medicine/Community medicine, 17=Combined specialist with invasive procedures, 18=Combined specialist with no invasive procedures)
        Academic title 0=no, 1=assistant professor, 2=associate professor, docent, 3=professor
B2. Practice setting 
1=a, Private Solo/Consultant



2=b, Private Group



3=c, HMO/private clinic or hospital



4=d, Public Hospital

5=e, Intern




6=f, Resident

B3. Inpatient Load 
  0   =a (<10%)

  1   =b (10 – 50 %)

  2   =c (>50 %)

B4. Terminal (Patients with end-stage disease) 
  0   =a (<10%)

  1   =b (10 – 20 %)

 1.5 =c (20 - 50 %)

  2   =d (>50 %)

B5.Emergency 
  0   =a (<10%)

  1   =b (10 – 50 %)

  2   =c (>50 %)

B6. Number of Institutions 

  0   =a (1)

  1   =b (2)

  2   =c (3+)
OSI Aspect #1: Underload
IU1 Homogeneous Information 
( 0 = Fixed feature for MD's: Heterogeneous information.    
IU2 Low frequency of incoming signals 

( 0 = Fixed feature for MD's: Either high flow of information or flow is under the physician’s control.

IU3 No need for communication 
( 0 = Fixed feature for MD's: Works with others.

Input underload total (IUT): IU1 + IU2 + IU3 = 0 
CUT  Automatic decision-making 
( 0 = Fixed feature for MD's: Decisions not automatic.
Central underload total: CUT = 0
OU1 Homogeneous tasks 
( 0 = Fixed feature for MD's: Tasks are heterogeneous.
OU2 Simple tasks 
( 0 = Fixed feature for MD's: Tasks are not simple.
OU3 Nothing to do 
  0   J10=a (Always something to do)     
0.5 J10=b (Rarely nothing to do)           
  1   J10=c (Occasionally nothing to do)  
  2   J.10=d (Frequently nothing to do)   
Output Underload Total (OUT): OU1 + OU2 + OU3 = 0 + OU3 
GU1 Fixed pay 
  0   D1=a or b (By individual work) 
  2   D1=c (Fixed pay) 
GU2 Inadequate pay  
  0     D2=a (Covers substantially more than basic needs) 
 0.5   D2=b (Covers a bit more than basic needs)
 1.5   D2=c (Just barely covers expenses) 
  2     D2=d (Totally inadequate) 
GU3 Lack of promotion prospects 
  0   D3=Yes (There are possibilities to upgrade job title or advance one’s career, and no active opposition) 
  1   D3=Yes + d or e   (There are upgrade possibilities, but active opposition) 
  2   D3 =No 
GU4 Lack of recognition of good work 
  0   D4=a (Definitely yes) 
0.5  D4=b (Yes, to some extent) 
1.5  D4=c (Not very much) 
  2   D4=d (Not at all) 

General Underload Total (GUT): GU1+ GU2 + GU3 + GU4 = GUT
Total Underload Score (IUT + CUT + OUT + GUT) = 0 + 0 + OUT + GUT = (UT)
_______________________
OSI Aspect #2: High Demand
IH1 Three or more information sources simultaneously 
      Range= 1( 2 (based on ER work: B5 and number of people seeking attention: J8-J9) 
IH2 Heterogeneous information 
___ Range= 1.5( 2 (based on tasks: J13, J16 – J19)
IH3 Heavy burden on visual system 
0.5 B1=General or family practice, primary care, psychiatrist, non-invasive cardiologist 
  1  B1=Surgeon, radiologist, pathologist, dermatologist or J16 – J18 (many procedures) 
IH4 More than five new signals per minute 
___Range= 1( 2 (based on burden - B5 ER work, workload: J3 – J6, J11-J13) (Control over workload: H1 – H3)
IH5 Three sensory modalities simultaneously 
  0   B1=Pathologist, radiologist 
  1   (B1=Clinician, not surgeon or anesthesiologist) AND (J17-J18=no procedures)

  2   (B1=Surgeon or anesthesiologist) OR (J17 – J18 = does procedures) 

IH6 Communication necessary for work 
  1   B1=Pathologists, radiologists 
  2   B1=Physicians involved in patient care 
Input High Demand Total (IHT) = IH1+IH2+IH3 + IH4 + IH5 + IH6 

CH1 Complex decisions/interrelated elements
(  2 = Fixed feature for MD's: Decisions are complex 
CH2 Complicated decisions/many elements
(  2 = Fixed feature for MD's: Decisions are complicated
CH3 Decisions affect the work of others 
  1   J11-J12=no direct supervision (but some implicit) 
 1.5 J11-J12=supervises 1 to 2 others 
  2   J11-J12 =supervises 3 or more others 
CH4 Rapid decisions 
1.5 B3, B5, J4 = mainly outpatient work 
 2   B3, B5, J4  = substantial ER and/or inpatient and/or ICU work 
Central High Demand Total (CHT) = CHI + CH2 + CH3 + CH4 = 2 + 2 + CH3 + CH4 
OH1 Heterogeneous tasks 
​___ Range= 1( 2 (based on tasks – J13, J16 – J19) 
OH2 Simultaneous task performance 
  0   B5 =a AND J4=a AND J8=c or d 
  1   B5=b OR J4=b OR J8=b 

  2   B5=c OR J4=c-e OR J8=a 
Based on ER work, ICU patients, simultaneous attention sought, add 0.5 points if J7=a or b, cares for newly admitted patients during work shift

OH3 Complex tasks 
​__Range= 1( 2 (based on profile B1, & tasks – J13, J16-J19)

OH4 Rapid task execution 
0.5  J17-J18=no invasive procedures, AND (B3=a or b AND B.5=a  AND J4=a) (mainly outpatient, no ER, no ICU) 

  1   J17-J18=no invasive procedures AND (B3=c or B.5=b or c or J4=b through e) 
  2   J17-J18=performs invasive procedures 
Output High Demand Total (OHT)= OHI + OH2 + OH3 + OH4 = 
GH1 Piece rate 
  0   D1 = c (Fixed pay) 
  1   D1 = b (Group work) 
  2   D1 = a (By individual work) 
GH2 Long work hours 
  0     Not more than 40h/week 

 0.5  40 to 42h/week 
  1   Frequently > 42h/week 
  2   Frequently > 48h/week 
Calculate from C1-C3, add 0.5 points if C4=c or d (called or emailed at home) or C18=c or d (works at home) and hours not included, to maximum 2 points
GH3 Two or more jobs 
  0   C6 = No 
  2   C6 = Yes 
GH4 Lack of rest breaks 
  0   C7 =d (frequently) 
  1   C7 =c (occasionally) 
 1.5 C7 =b (rarely) 
  2   C7 =a (never) 
Add 0.5 points if C8=a, C9=no, or if C10 > 2 hours, to a maximum of 2 points. 
GH5 Night shift / irregular work 
  0     C3=regular work schedule AND C11=no night shift work 
0.5    C3=irregular work schedule AND C11=no night shift work 

  1     C11=yes, a (night shift only) 
 1.5   C11=yes, b (rotating night shift, up to four night shifts/month) 
1.75 C11=yes, b (rotating night shift, at least once per week but not more than every fourth night) 
  2     C11=yes, b (rotating night shift, at least every third night) 
Add 0.5 points if < 24 free time after working a rotating night shift (C15) , or if irregular schedule (C3=no), or no guaranteed relief, up to max. 2 points 
GH6 Insufficient paid vacation 
  0   C5= Over four weeks 

  1   C5=Three to four weeks 
 1.5 C5=Two weeks 
  2   C5=Less than two weeks 
 Add 0.5 to 1 point if the vacation is actually formal and work is performed during vacation time
General High Demand Total (GHT) = GHI + GH2 + GH3 + GH4 + GH5 + GH6 = 
Total High Demand Score (IHT + CHT + OHT + GHT) = HT
_______________________

OSI Aspect # 3: Strictness
IST Strict requirements for signal detection 
   Range = 1.5( 2, based on B1, B5, J4, J17 
   1.5   Minimal ER work, no ICU patients, no invasive procedures 
   1.75 Not a surgeon or anesthesiologist, some ER or ICU patients or two or fewer invasive procedures  

     2     Surgeon or anesthesiologist, ( 50% ER work and/or >2 invasive procedures 
Input Strictness Total = IST 

CS1 Strict problem solving strategy 
​__ Range= 0( 1 (based on H5 and H8-H9 maximum (1) if very strict rules and regulations)

CS2 Strictly defined correct decision 
     Range= 1( 1.5 based on H5 – H9, maximum (1.5) if very strict rules and regulations &/or overseen)

Central Strictness Total (CST)  = CS1 + CS2  
OST Strict evaluation of performance
____Range= 1( 2, based on H6, H7 and I3, maximum (2) if overseen & slightest oversight noted)

Output Strictness Total = OST 

GS1 Fixed posture 
  0.5  B1, E11, J16-19: (in office < 50% of the time, few procedures)
  1     B1, B3=a, E11, J3, J16-19:  (mainly single posture, but free to move - mainly outpatient work, in office >50). few procedures))
 1.5   B1, E11, J5, J16-19: (lots of procedures, anesthesiologist)
   2    B1: (Surgeon)

GS2 Confined, window-less, poorly ventilated work area 
        Works in >1 location (E11part IV < 50% in office) subtract 1 point to minimum 0
0.5   Spends over 50% of time in a non-confined work area, with a direct window 

(E12=a) AND (E11 indicates non-confined work area) 
  1    Spends over 50% of time in a non-confined work area, with an indirect window 
(E12=b) AND (E11 indicates non-confined work area)

1.5   Non-confined work area without a window 
(E12=c) AND (E11 indicates non-confined work area-shares with at most 1 other colleagues)

1.5   Confined or crowded space with an indirect window 
(E12=b) AND (E11 indicates very crowded work area or 2+ colleagues in an office)

  2   Windowless and confined/crowded space 
(E12=c) AND (E11 indicates very crowded work area or 2+ colleagues in an office)

Add 0.5 points if E13=no, inadequate ventilation, to a maximum of 2 points
GS3 Lack of autonomous workspace 
  0    E11 (Has own desk/workspace and has own office)
  1    E11 (Has own desk or workspace but shares an office) 

  2    E11 (No autonomous workspace)
        Add 1 point to maximum of 2 if (E11) seeks free office space to talk with or examine patients 

GS4 Limited chance to take time off from work 
  0   C16=a (no problem to take time off) 
  1   C16=b (a little difficult to take time off) 
 1.5 C16=c (somewhat difficult to take time off) 
  2   C16=d (very difficult to take time off) 
GS5 Limited influence over work schedule 
  0   C17=a (complete influence) 
0.5  C17=b (major influence)     
  1   C17=c (a little influence)      
_2_ C17=d (no influence)          
GS6 Limited influence over deciding with whom he or she works (if mixed response, choose worse) 
  0   B1=pathologist or radiologist and H4=major influence 
  1   B1=patient care profile AND H1, H4 =major influence, H9=flexible 
 1.5 B1=patient care profile AND H1, H4 =some influence, H9=somewhat strict 
  2   B1=patient care profile AND H1, H4 =little or no influence, H9=very strict
GS7 Limited influence over what the work tasks will be (if mixed response, choose worse) 
   1       H2 clinical and H3 non-clinical tasks: major influence
  1.25   H2 clinical and H3 non-clinical tasks: some influence.
  1.5     H2 clinical and H3 non-clinical tasks: a little influence.

   2       H2 clinical and H3 non-clinical tasks: no influence.

    If pressure to publish, present findings at congresses, add J15 = a or b, to maximum 2.
GS8 Limited influence over policy 
  0   H5= (Major) 
 0.5 H5= (Some) 
 1.5 H5= (A little) 
  2   H5= (None) 
General Strictness Total (GST) = GS1 + GS2 + GS3 + GS4 + GS5 + GS6 + GS7 + GS8 

Total Strictness Score (IST + CST + OST + GST) = ST
________________________________________________________________________________

OSI Aspect # 4: Extrinsic Time Pressure
IEPT Control of speed incoming signals (if mixed response, choose worse) 
  1    B1 = pathologist 
1.5   B1 = patient care work, H1 and H9, major control of number of patients under care/outpatient scheduling
1.75 B1 = patient care work, H1 and H9, some control of number of patients under care/outpatient scheduling
   2   B1 = patient care work, H1 or H9, little or no control of number of patients under care/outpatient scheduling

Input Extrinsic Time Pressure Total = IEPT 

CEPT Decisions cannot be postponed 
  1      B1 OR B3, B5, J4 = mainly outpatient or non-clinical work, minimal emergency work and no ICU patients.
1.5     B5, J4 = 10 – 50% emergency patients, some ICU patients 
  2      B5, J4 = mainly emergency patients or many ICU patients

Central Extrinsic Time Pressure Total = CEPT 

OEPT Control of task performance rate 
   1   H1 – H3 = Major control over # patients, clinical tasks, other duties 
 1.5  H1 – H3 = Some control over # patients, clinical tasks, other duties
   2   H1 – H3 = Little or no control over number of patients, clinical tasks, other duties

Output Extrinsic Time Pressure Total = OEPT 

GEP1 Deadline Pressure 
  0   G1=a (never) 
0.5  G1=b (rarely) 
  1   G1=c (occasionally) 
  2   G1=d (frequently) 
GEP2 Speedup 
  0   G2=a (rarely or never) 
  1   G2=b (certain periods of the month or year) 
 1.5 G2=c (at least weekly but not daily) 

  2   G2=d (daily) 
Add 0.5 points if B5=c, add 0.25 points if B5=b, to a maximum of 2, to account for emergency work. 

General Extrinsic Time Pressure Total (GEPT) = GEP1 + GEP2 = 
Total Extrinsic Time Pressure (IEPT + CEPT + OEPT + GEPT) = EPT
____________________________________________________________________
OSI Aspect # 5: Aversiveness/Noxious Exposures
INOX1 Glare 
  0   E1=a (never)           
0.5  E1=b (rarely)           
  1   E1=c (occasionally)
  2   E1=d (frequently)    
INOX2 Noise 
___ Range = 0 ( 0.5 Maximum if working primarily in the ER, B5
Input Noxious Exposure Total (INOXT) = INOX1 + INOX2 = 
ONOX1 Isometric lifting
  0   E4=c  
  1   E4= Lifts less than 50 kg. 
  2   E4=Over 50 kg. regularly 
ONOX2 Vibration exposure 
  0    E5 = b No vibration exposure
 0.5  E5 = a Uses vibrating hand tools up to 5 hours per week
  1    E5 = a Uses vibrating hand tools over 5 hours per week
Output Noxious Exposure Total (ONOXT) = ONOX1 + ONOX2 =
GNOX1 Heat Exposure 
   0    E6 = a Temperatures do not exceed 25( C
 0.5   E6 = b Temperatures can exceed 25( C, up to 30( C
   1    E6 = c Temperatures can exceed 30( up to 40( C(
   Add 0.5 points, if E13 = b inadequate ventilation.

GNOX2 Cold Exposure 
  0    E7=a (at least 20 degrees C) 
0.5   E7=b (at least 18) 
  1    E7=c (10 -18 degrees C) 
Add 0.5 points, to maximum of 2, if E14 =yes (drafty) 
GNOX3 Exposure to fumes, gases and/or dusts 
  0  E8=a (no) 
  1  E8=b (at least occasionally)
General Noxious Exposure Total (GNOXT) = GNOX1 + GNOX2 + GNOX3 =  
Total Noxious Exposure Score (INOXT + ONOXT + GNOXT) = NOXT
___________________
OSI Aspect # 6: Avoidance (Symbolic Aversiveness/Disaster Potential)
IAVOI1 Need for sustained alertness to avoid serious consequences 

   1    B1 = Pathologist or other area without patient contact 
 1.5   B3, B5 = a Mainly non-emergency, outpatient work and but has patient contact (i.e. not a pathologist)
   2    B3, B5 = b or c Substantial emergency and/or inpatient work 
IAVOI2 Visually disturbing scenes 

  0   E2 =a (never) 
0.5  E2 =b (rarely) 
  1   E2 =c (occasionally) 
  2   E2 =d (frequently) 
IAVOI3 Listens to emotionally disturbing occurrences 
  0   E3=a (never) 
0.5  E3=b (rarely) 
  1   E3=c (occasionally) 
  2   E3=d (frequently)   
Add 1 point if B4 =c or d  (large percentage of patients with end-stage or incurable disease), 0.5 points if B4=b, add 1 point if F3=a or b (patient suicide), and 0.5 if F3=c  (heard about patient suicide), to maximum of 2 points

Input Symbolic Aversiveness Total (IAVOIT) = IAVOI1 + IAVOI2 + IAVOI3 = 
CAVOIT Serious consequences of wrong decisions 
( 2  Fixed feature for MD’s: Potential injury or fatality from error

Central Symbolic Aversiveness Total = CAVOIT = 2
OAVOIT Hazardous Task Performance 
  1   E10= e (No acute hazards reported) 
  2   E10 = a-d (Acute hazards present) 
Add 1 to a maximum of 2 points, for Radiation exposure, E9 
Output Symbolic Aversiveness Total = OAVOIT

GAVOI1 Experienced Accident or Injury at Work 
  0   F1 = No 
  1   F1  = Yes, if not serious 
  2   F1  = Yes, if serious 
GAVOI2 Witnessed Accident or Injury at Work 
  0   F2 = d (never heard about or witnessed a serious accident at work) 
0.5  F2 = c (heard about but never witnessed a serious accident at work) 
  1   F2 = b (witnessed serious accident at work) 
  2   F2 = a (witnessed fatal accident at work)    
GAVOI3 Litigation/Testifying in Court 
   0    F5 = No 
   1    F5 = Yes, a As expert witness, only 
 1.5   F5 = Yes, b Testified about a colleague or staff member or official complaint to workplace F7 
   2    F5 = Yes, c Defendant in a malpractice case 
  Add 0.5 points if made public F6 or F9 or if a complaint brought to higher body F8, to maximum 2 points.

GAVOI4 Suicide at work (Patient or Other persons at work) 
  0   F3 = d AND F4 = no:  No patient suicide attempt for respondent nor to colleagues. No suicide attempt among colleagues or staff.
 0.5 F3 = c Patient suicide attempt to colleagues, but not to respondent. No suicide attempt among colleagues or staff.
  1  F3 = c Patient completed suicide to colleagues, but not to respondent OR F4 = One suicide attempt at work, person not known to respondent
 1.5 F3= b One or two of respondent’s patients have attempted suicide OR F4 >1 suicide attempt at work, persons not known to respondent 
  2    F3 = a Several of respondent’s patients have attempted suicide OR F4 Suicide attempt at work with person known to respondent 
          Add 1 point to 2 maximum if ANY completed suicide 
GAVOI5 Lack of functioning emergency system 
   0   F10  = a Yes and knows that it functions properly. 
   1   F10  = b Yes, but does not know whether it functions properly. 
   2   F10 =  c  No functioning system for non-medical emergencies.  
General Symbolic Aversiveness Total (GAVOIT) = GAVOI1 + GAVOI2 + GAVOI3 + GAVOI4 + GAVOI5 = 
Total Symbolic Aversiveness Score (IAVOIT + 2 + OAVOIT + GAVOIT) = AVOIT
_______________________
OSI Aspect # 7: Conflict/Uncertainty
ICNFL1 Signal/noise conflict 

( 2 Fixed feature for MD's: Frequent signal/noise conflict.
ICNFL2 Signal/signal conflict 
( 2 Fixed feature for MD's: Frequent signal/signal conflict

Input Conflict Total (ICNFLT) = ICNFL1 + ICNFL2 = 4 
CCNFL1 Missing information needed for decision-making 
  2     H10 = c or d AND problems: e, h, i (language barriers, delay with medical records, difficulty in getting lab), OR J1 or J2 =frequent (disturbed patient, can’t get history)
 1.5   Otherwise

CCNFL2 Contradictory information 
( 2  Fixed feature for MD's: Contradictory information.

CCNFL3 Unforeseeable events require new plan 
  2   B5 = c >50% ER work or J4 = c-e, 3 or more ICU patients.

 1.5  B5 = b 10-50% ER or J4 = b, one or two ICU patients 
  1   Otherwise, minimum for MD’s 
Central Conflict Total (CCNFLT) = CCNFL1 + CCNFL2 + CCNFL3= CCNFL1 + 2 + CCNFL3 = 
OCNFL1 Conflicting demands in time and space 
  0   G3 =a (never) 
0.5  G3 =b (rarely) 
  1   G3 =c (occasionally) 
  2   G3 =d (frequently) 
Add 0.5 points for J14 =no special time set aside for non-clinical tasks, J7=a or b (cares for newly admitted patients during shift), to max. 2 points

OCNFL2 Technical problems hamper task performance 
  0   H10 =a (never) 
0.5  H10 =b (rarely) 
  1   H10 =c (occasionally) 
  2   H10 =d (frequently) 
OCNFL3 Interruptions from people hamper task performance 
  0   H11=a (never)           
0.5  H11=b (rarely)           
  1   H11=c (occasionally) 
  2   H11=d (frequently)    
Output Conflict Total (OCNFLT) = OCNFL1 + OCNFL2 + OCNFL3 = 
GCNFL1 Emotionally charged work atmosphere 
  0   I2 =a (no) AND I3=a (Constructive learning atmosphere) 
0.5  I2 =b (minimal) 
  1   I2 =c (occasionally) 
  2   I2 =d (great deal of tension) 
Add 0.5 points if I3 = (some tension with display of knowledge) and 1 point if I3=c (high tension with display of knowledge) to a maximum of 2 points.

GCNFL2 Lack of help with difficulties 
    0    I1 = a Can count on help
   0.5  I1 = b Usually can count on help
   1.5  I1 = c Can’t count on help
    2    I1 = d Rarely or never gets help which is needed
GCNFL3 Opposition to career advancement 
  0   D3 =Yes + a or b (Support or advancement) OR (no possibilities for advancement) 
  1   D3 =Yes, and c (No Active Opposition) AND 
  2   D3 =Yes and d or e (Active Opposition) 
GCNFL4 Violations of behavior norms/abuses of power 
  0    I4 =a (Never)              
0.5   I4 =b (Rarely)             
 1.5  I4 =c (Occasionally)   
  2    I4 =d (Frequently)      
GCNFL5 Lack of redress of grievance 
  0   I5=a (Redress can be done and is efficient and confidential) 
  1   I5=b (In principle yes but not effective or not confidential)   
  2   I5=c (No possibility to redress grievances) 
GCNFL6 Threat of Job Loss 
   0  A3 = a, b K7 = no  Stable position, no threat of job loss. 
   1  A3 =  c  K7 = no  Temporary work, but no threat of job loss.
   2   K7 = Yes  Threat of job loss present.
If K7 = no and A3 = d, evaluate whether this is temporary versus stable employment.  
Add 0.5 points to a maximum of 2 points if J15 = a: Could lose position if fails to publish or present results at conferences. 

GCNFL7 Job lacks coherence 
  0   J20 =no (no performance of pointless tasks) 
  1   J20 =yes (performance of pointless tasks) 
General Conflict Total (GCNFLT) = GCNFL1 + GCNFL2 + GCNFL3 + GCNFL4 + GCNFL5 + GCNFL6 + GCNFL7 =
Total Conflict Score (4 + CCNFLT + OCNFLT + GCNFLT) = CNFLT
__________________________________
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 =  Total OSI Score  =  UT + HT + ST + EPT + NOXT + AVOIT + CNFLT
� Other items outside the explicit OSI framework (e.g. parts of K to M, as well as the open-ended questions) should be analyzed, though not summed into the total OSI score.
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